# APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	BILL MCGLYNN	Page 1 of3									
	AL CONSTRUCTION AND RECONST										
Contract Number:	7903	Payn	ment Number: 2								
DO NOT WRI	TE IN THIS BOX - TO BE COM	MPLETED BY CITY ENGINEERING	PERSONNEL ONLY								
TOTAL FROM PAG	E:3	322,6	12.15								
LESS RETAINAGE	: •	16,13	30.61								
SUBTOTAL:		306,4	306,481.54								
LESS PREVIOUS F	AYMENTS:	108,	108,793.57								
CURRENT PAYME	NT DUE:	#197,68	37.97								
COM	RACTOR: RAYMOND P. CATI	TELL, INC.	DATE								
INSPECTOR'S CEI	s application for payment has been that the current payment is now due.  RACTOR: RAYMOND P. CATT  RATIFICATE FOR PAYMENT: Indersigned Inspector certifies that to application for payment has been	TELL, INC.	DATE the work covered								
and th	nat the contractor is entitled to paym Lon Keddun ECTOR		7-14-17 DATE								
PLEASE PROVIDE T	HE TIME PERIOD FOR THIS PAYME	ENT REQUEST: FR	OM: LAST 7/3/17 TO: 7/14/17								
PLEASE PROVIDE T	HE CONTRACTOR/SUBCONTRACT	ORS THAT WORKED ON PROJEC									
	164 TRUCKING										
JR'S LANDSC	AP6										
	ED PAYMENT REQUEST SHALL BE SU IAL PAYMENTS CAN BE PROCESSED		ISPECTOR.								

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

RAYMOND P. CATTELL, INC.

TATME	NT NO. 2	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
ACCOL	ACCOUNT NO. 11465-403-200												
10802	ROOT CUTTING - SIDEWALK	400.00	L.F.	\$3.00	\$1,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20101	EXCAVATION CUT	20.00	C.Y.	\$25.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20218	CRUSHED STONE	30.00	TON	\$10.00	\$300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20221	TOPSOIL	90.00	S.Y.	\$12.50	\$1,125.00		55.43	\$692.88	3.60	\$45.00	59.03	\$737.88	65.6%
20302	SAWCUT CONCRETE FULL DEPTH	100.00	L.F.	\$2.50	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20303	SAWCUT BITUMINOUS PAVEMENT	50.00	L.F.	\$2.50	\$125.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	75.00	S.F.	\$5.00	\$375.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20401	CLEARING	10.00	I.D.	\$5.00	\$50.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20403	GRUBBING	10.00	I.D.	\$5.00	\$50.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20501	ADJUST SEWER ACCESS STRUCTURE	6.00	EACH	\$500.00	\$3,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20502	ADJUST CATCH BASIN	1.00	EACH	\$600.00	\$600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20701	TERRACE SEEDING	90.00	S.Y.	\$3.00	\$270.00		55.43	\$166.29	3.60	\$10.80	59.03	\$177.09	65.6%
21061	EROSION MATTING	90.00	S.Y.	\$4.00	\$360.00		55.43	\$221.72	3.60	\$14.40	59.03	\$236.12	65.6%
30101	#4 EPOXY COATED PAVEMENT TIE	5.00	EACH	\$5.00	\$25.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30301	5 INCH CONCRETE SIDEWALK	3,350.00	S.F.	\$8.50	\$28,475.00		603.60	\$5,130.60	77.80	\$661.30	681.40	\$5,791.90	20.3%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	100.00	S.F.	\$9.20	\$920.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30330	PROFILE SAWCUT	5.00	L.F.	\$30.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30340	CURB RAMP DETECTABLE WARNING FIELDS	1,056.00	S.F.	\$5.00	\$5,280.00		216.00	\$1,080.00	0.00	\$0.00	216.00	\$1,080.00	20.5%
30501	REMOVE AND REPLACE 5 INCH CONCRETE SIDEWALK - SIDEWALK REPLACEMENT PROGRAM	80,900.00	S.F.	\$9.25	\$748,325.00		18,029.50	\$166,772.88	12,189.60	\$112,753.80	30,219.10	\$279,526.68	37.4%

### CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

RAYMOND P. CATTELL, INC.

ANNUAL CONSTRUCTION AND RECONSTRUCTION OF CONCRETE SIDEWALK AND INCIDENTAL CONCRETE CURB & GUTTER WORK ORDERED (DISTRICT 17) BY THE COMMON COUNCIL CONTRACT NO. 7903

	ACT NO. 7903 NT NO. 2	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
30502	REMOVE AND REPLACE 7 INCH CONCRETE SIDEWALK - SIDEWALK REPLACEMENT PROGRAM	16,400.00	S.F.	\$9.85	\$161,540.00		3,223.83	\$31,754.73	105.00	\$1,034.25	3,328.83	\$32,788.98	20.3%
30503	REMOVE AND REPLACE CONCRETE STEPS - SIDEWALK REPLACEMENT PROGRAM	25.00	S.F.	\$50.00	\$1,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30504	REMOVE EXISTING ASPHALT SIDEWALK & DRIVEWAY - SIDEWALK REPLACEMENT PROGRAM	150.00	S.F.	\$5.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30505	REMOVE AND REPLACE CONCRETE CURB & GUTTER - SIDEWALK REPLACEMENT PROGRAM	275.00	L.F.	\$40.00	\$11,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30506	RESET BRICK PAVERS - SIDEWALK REPLACEMENT PROGRAM	75.00	S.F.	\$30.00	\$2,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40201	HMA PAVEMENT TYPE E-0.3	240.00	SY	\$50.00	\$12,000.00		45.47	\$2,273.50	0.00	\$0.00	45.47	\$2,273.50	18.9%
40364	ADJUST INLET CASTING, TYPE "H" - RESURFACING	1.00	EACH	\$250.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90001	HES CONCRETE, REMOVE AND REPLACE 7 INCH CONCRETE SIDEWALK - SIDEWALK REPLACEMENT PROGRAM	200.00	S.F.	\$12.00	\$2,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS			·	\$982,820.00			\$208,092.60	_	\$114,519.55	_	\$322,612.15	32.8%
ACCOU	NT NO. 85131-54425												
20101	EXCAVATION CUT	10.00	C.Y.	\$25.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20218	CRUSHED STONE	10.00	TON	\$10.00	\$100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20221	TOPSOIL	10.00	S.Y.	\$12.50	\$125.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20701	TERRACE SEEDING	10.00	S.Y.	\$3.00	\$30.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21061	EROSION MATTING	10.00	S.Y.	\$4.00	\$40.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	100.00	S.F.	\$9.20	\$920.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30330	PROFILE SAWCUT	10.00	L.F.	\$30.00	\$300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30340	CURB RAMP DETECTABLE WARNING FIELDS	24.00	S.F.	\$5.00	\$120.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

### CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

#### RAYMOND P. CATTELL, INC.

ANNUAL CONSTRUCTION AND RECONSTRUCTION OF CONCRETE SIDEWALK AND INCIDENTAL CONCRETE CURB & GUTTER WORK ORDERED (DISTRICT 17) BY THE COMMON COUNCIL **CONTRACT NO. 7903** 

	NT NO. 2	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
30505	REMOVE AND REPLACE CONCRETE CURB & GUTTER - SIDEWALK REPLACEMENT PROGRAM	25.00	L.F.	\$40.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40201	HMA PAVEMENT TYPE E-0.3	10.00	SY	\$50.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90002	BUS PAD	1,750.00	S.F.	\$10.00	\$17,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS			=	\$20,885.00		•	\$0.00	•	\$0.00	:	\$0.00	0.0%
CONTR	ACT TOTALS			•	\$1,003,705.00			\$208,092.60		\$114,519.55		\$322,612.15	<del>-</del> 32.1%